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Y General Math 10™ (I
2 M.C.Qs
> /71C‘Q's—/r'_A B | C D .;um,}s?m,e’ T ry)
i ﬁ:ald is a surd of e ) 5 1 ~.-~\/_- &t r e .
order: 2 5 \
l“z) () =x- P(x)=x"-/1 a \
+5x+1 th N R .
2 ix Sx+1the P (1) 5 5 ! g 0 axt+sx+1 the P(1) | 2
The number of 5] ; T ‘ = = T
L 04 ST
3 | methods to find 0 1 2 3 LL et frdesn 3
L.C.M are: : i A
Any value of the '- ——
variable which : P AT 3
s —38 = X
4 | makes the equation Equation | Inequality |  Sclution Variable bt I
a true statement is e Qe S
called the
| . B
Solution of x*-5x + . ! e PEES5x +6=0
s [224 (3) 2y 1 23 (-2.3) 5
The number of R R = :
¢ | rows and columns Order Rows Columns | Determinant | F¢nSSUr s
in a matrix & 5 ¢ s v 3t P 6
determing its: ad ek ¢ s -edSl Ly
If two angles are ‘ Adjacent Transversal o
7 supplement of the Equal Unequal il I Lo sigLiein/
; 5 ; angle
same angle they e Ny i g Bl 7
arc: ol Ll
The number of % iy it o "
8 | angle biscctors in a ] 2 3 4 Lty als )
triangle is: I ‘ut
If the square of the Sealonie . RE
h_\.'polem..lsc of right | Pythagoras ¢ Equilateral Isosceles ¥AHLale_n)i=fe S
o | triangle is equal to triangle ; : i
. tha siew 810 theorem i triangle triangle gl Lo, | o
i square of the other L e - : LI | altfUgL et Iy 48,8
7 sides, it is called: L ) 2L
The co-ordinates of . —
W the origin are: 0 (I’O)'____ _ 0,0 o,n Mnaht Liige | 10
In a unit matrix ; = - —_—
11 | diagonal elements 3 . Whihane Zero SN N YN 11
S K- (5 - : : 2 ! 0 LA
12 ‘@’ln the given Diameter Chord Rgdius Tangent u.- il @
. - ad 4%
diagram AB is Y 7 o s ri7wygA °l 12
| called: 4 .« AB
The side opposile o IR e
1312 right angle in a Radius Diameter | Hypotenvse Area foiety L}:“"‘L‘f”j'yl’ .
r;gll:: angled triangle i y B 3, Fiegesy I e L 13
I R P ST ;+ru{
14 A square is an Quadrilateral | Rectongle | Parallelogram | Triangle VPR, o
ol -cqu1lalcml R ] _’_[’_:_ L ___J_J'fj B (;;;,_:‘ b :und:lz(,uhlrt? i
a<b means that a o " S Ly g o
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0.No. 6 (a):- 4x* - 12x3 +25x% - Ix + m
! For what value of “I” and “m” the expression is
“acegklete square x #0

1
(b):- Solve 5(24x)>%(3—x)+2

Q.No. 7 (a):- Solve by completing the square method
2x" +8x-26=0

(b):- If A= | f _32 ] and B=[ 21 i ]
(AB) = B'A!

Q.No. 8 (a):- Use Cramer’s Rule to solve the
simultaneous equation
5x+2y=13
2x+5y=17

(b):- Draw a circle passing through the three vertices of
an equilateral triangle with length of each side
4cm.

then show that

Q.No. 9 (a):- How many tiles of 40cm?2 will be required
to pave the footpath 1m wide carried round the outside
of a grassy plot 25m by 18m?

(b):- Show that the Point A (0,2), B (3,-2) and C (0,-2)
are vertices of a right triangle.

4x* — 1253 + 25%% - Ix + m (6 A1
x # 00t pJF LAzl =i Sl
1 1
W (2-0)>5(3-0+7 O
S e /’Ld/«.}f--l(Jl)']/dlr
) 2%+ 8% — 26 = 0
— 2 3 ,
S S et B= [ 21 i ZLSIC l/ ()
(AB)'=B'A

:q/d’fu?bl/)l/?;&}Lf:/.:(JDS/Jl/

5x +2y=13

2x + 5y =17
it e UL e 2 G AUSE s L S sl —:(2)
!Z_-l‘/.b/lb
40 g2t sg 2 1S Land byl L 4228218 (N9 Ay
SALT S F S,

11226 £ C (0,-2) 1A (0,2), B (3,-2) s6SZE =t ()
—SUl L
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MODEL PAPER 2024
General Math 10" (IT)

SHORT QUESTIONS

7 Attedpt any six question: :q,_.,t_zc'.’_u)lngr_.(j/ﬂ/?dly
educe the gi\3'e:21 rational expression to lowest 25a3bHEl s 2t f St N
terms: 25a°b" 2 4
14a’b* 142°b
2). Define “Real Numbers” sl a2
3). If x =3 +/2, then find the value of ;——- ? -g{f?:"’:a_;é;'xx =3+/2 /i -3
4). Define quadratic polygonal? VISP f- L9 -4
5). Complete the formula (x+y ) (*xy+y¥")=___ (x+y) (Cxy+y?) = Wk J‘(Jums -5
6). Factorize P° - 64 AP -64 6
7).InAxB=HxL AxB=HxL .7
B is called B
8). Find the H.C.F of x* - 4x - 21 and x” - 49 S P - 49 —dx =21 8
9). Find the H.C.F of 4x> — 1 and 2x* + 3x + | AL 2 +3x + Ladx? - -9
Q. No. 3: Attempt any six question: :J,;._.lzéuﬂlru;céfﬂ Ay
1). Solve : x +Vx — 4 =4 JIPx+Vx—4=4 -1
2). Define linear equation on number line 0wl e 2
3). Solve: 3x +4|=9 J/SPBx+4=9 3
4). Factorize: 3x” - 8x 3 =0 U873 -8x3=0 4
5). Find the perimeter of given rectangle ——=—= ) L S MUYV ah (TR
6). Solve: (x —3)*- 4 1 (x-32-4 6
7NFA=[3 *]andB=[2]the find AB? LBt 7
B).1FA=[ ¢ i]lhe find A-1= A-1=77n[f5‘ i]/. 8
9). Define singular Matrix? s/ 9
Q. No. 4: Attempt any six question: :u_',.._,lzéu:’ln;;(jf:4f.fdlx
1). Define angle? s Pl 1
2). Define Diameter? o VP )
3). Whiﬁgz;x;gle we get by adding two commentary Setr i e i S YA, ,/__J, , 3
4 Dpm B B sk 1 2 nengls by Laking &y W onLopmletmfbetbpsdsll 4
5). Construct a square whose one side is 3.5cm R ESE Sl L -5
6). Define centroid of the triangle? sty 6
7). Define “Volume™ el fedn
g,)]d F}i!;icig;]l:ezgi(ir;l;s of cylinder with volume 12320cm® % /( St o 20 Jlj:ln' - 12320 (ﬁ/,}:lf 3
9). Create the given point the number plane: (-8, 10) \IS1) .Li"é’:._.:uﬁdi" s -9
LONG QUESTIONS
Q.No. S(i()a);; Lff:q\/§+ 2 then find the value S +i'=?’-’” X =V5+2 /1 (05 A
x

(b):- If P(x) = 4x* + 10x° + 19x + 4 is divided by (x +3) T (x 435 P(x) = 4x* + 10x> + 19x + 4 Si ()
then find the remainder B, ),r 3""5&
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10 =~ 215
e UM 2 L2 g W2t L 4 DBABC e R AP L =2y

.;ur'JL//;/QKEL//,J/U)/’DMQL_fg-&)ﬂa‘fr L S S5y 3> O L N2 mrss
K w20 G S

l../—.’j Jlr’

Which of the following is valid variablename ? ~ § ¢ = (b ™ o U~ 300 -1
Case (D) 10stdmarks (C) Std —marks (B) Stdmarks (A)

For initializing a variable, we use ————-————- operator ? i/ Jbu"-/u-i/;/, [ I *LLL/ S | 22
D) - (© ==B) =)

¢ gyj;uyé:é’!d.;aﬁ)(f-‘/g/uufauyw =3

‘Which of the following is a valid character constant in C language ?

“comp’ (D) “a” (© 8 (B) ‘87 (A)
‘What is the output of printf (“%0 d ” , 10<9); S st 5T S printf (“% d”, 10<9); | -4
1 (D) 0 (O 10® 9 W

s S i i T G A2 e e S s | s

The statements to be execute if the condition is false are written in the body of.

else statement  —2_# else (B) if statement — Hif A)
break statement —%" break (D) case statement —t_*¥ case ©
What is the output of following code ? gt ST IS St | -6
int age =25;

if Cage >30)
printf (“01d”);
else
printf (“ Young ) ;
Nothing (D) Old Young (C) Young (B) old (A)
—————— -make it easier to read and write values in array. g {22 YT 22 JM S e~ | T

——————— part of for loop is executed first. bt o o Jfor | -8
. 3

Function could be built in or =—==—==---- - g T O/ U‘:"a -9
Library ($42~"1 (B) Admin defined ‘o225 4 (A)

Server defined Jes25.~ (D) User defined A-sC25.y (C)

A function that does not return any thing has return type. —¢— 0 et s § U~ T S e o ST £ g -10
zero (D) nothing (C) void (B) null (A)

CLASS 10" 2024 MODEL PAPER
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Q. No.2 Write Short answers to any four of the following  4x2=8 -é/_/—j .A«Lli./—"? L= AP e Jf <~ J: B1O%) 2.~ Jir

What is meant by programming environment ? ? e S~ L..'/’/L 2719 _f‘l)’;/, @
Write any four name of keywords. &k /,,1-—; (t Zind AP < 37 G
Write an example of single line comments and multiple line comments. - "g.’j Je —l d/ U"L‘I U Ci"‘ 2l U"u/ U Jﬂ/ Gii)
What is the use of assignment operator ? - Je—1 L.((KM/,T — | Gv)
What is the difference between unary and binary operators ? S 2 I o T~y O
Identify errors in the following code. JE S s s | G
Print (“ Pakistan ” ) :
Q. No.3 Write Short answers to any four of the following  4x2=8 -é/,/—j .;,guz/—»‘"}' Py AP e Gi/ PN J, YOV 3.~ Jir
Define selection statements. - é ._-e{/—; d/ it gfg-/ @
‘What is the output of following code ? $ e L,«f_‘_g 5T J 3 st )
inta =>5;
if(a%2 ==0)
printf (“ Even ™) ;
else
printf (“ Odd ”) ;
Identify errors in the following code. - é u:/ Wiy S~ 17 J.” 5eu | Gii)
int m=40
if (m > 33)
printf (“ PASS”) ;
‘What is the use of nested selected structure ? e JE—1S¥ /-;}/ S~ u’}g_/ s | )
How is an array element accessed ? e Jyt 4 LjL./J — N Ll W)
LE B AL e ég&u’yjﬁ eI ZE K G| i)
Declare an array and initialize it with five vowels of English language.
Q. No.4 Write Short answers to any four of the following 4x2=8 ..é/“/-j .;,Llﬁ/-*‘? L= /Q’)L éfa o J.‘,:' () 4../—.”2Jlr
‘What is the output of following code ? e L“/(_*_; 3T J 39 S5t ®
for (char a= ‘A” ; a<=*‘E’; a++)
printf (“%c”, a) ;
Identify errors in following code. - 2’2 U':'/ W = 5;( J.‘. YW Gd
int Max (inta ; intb)
{
if (a>b);
return a ;
}
What is the syntax of for loop ? o S uhia K — for iii)
Define function. - é — d/ U‘“’G What| Gv)
is difference between arguments and parameters ? e d~ L“/(w'/ byl Ve~V u:“"‘ ).).//JT )
Write the structure of signature of function. - ng ,_’)’ 514 Jee-lfwi Z u-“’é (vi)
What do you know about the return keyword ? tut 2> S il L retum 50 —T| Gid)

Part -l rﬁ)._«"

Note: Attempt any two questions from this part 8x2=16 -i/“f-j — Ly e Jfé S o T

What is difference between constants and variables ? Also write rules for naming variable.

,’fL:/,/-j J;‘lLiJ(I:K/-.-f’.ﬁj-r’?q_u"/—'/gu:/_;u-(’%m_;ﬁ;” S_rr"’dlf

> - 3 Py
Explain the logical operators with the help of truth table. - é —ol v e ST 5} d/ Jr==/] J"" 6-~—"Ji»

Write a program that print the factorial of 7 using for loop.

e S K12 oy L e L SIENE S for | T iy
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MODEL PAPER FOR THE YEAR 2024 AND ONWARD
‘ Class 10th.

ENGLISH (Compulsory) ( Objective Part )

/
/

'

.

=0

g Time: 20 Minutes

Marks: 19

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill

Q.No.1 that circle in front of that question number. Use marker or pen to fi
“INO-1 will result in zero marks in that question. Attempt as many questi

leave others blank.

Il the circles, Cutting or filling two or more circles
ons as given in objective type question paper and

Choose the correct form of verb from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
1 |He___toustomorrow. comes will come come had come
2 |Hedidnot____to my letter. reply replied replying replies
3 | The goatdoesnot _ meat. eats eat eating ate
4 | You ___ takenabath. will not have shall not will have | shall have
have not not
5 | Abigamount___saved this year. has been have been | were being have

Choose the word with correct spellings from the columns A, B, C and D and fill up the bubbles:

S# A B C D
6 Acknowladge Aknowlege Acknowledge Ecknowledge
7 Laboratory Laboratery Leboretry Loboratary
8 Fariegn Foreign Foriegn Foren
9 Government Govnment Gaurment Govermemt

Choose the correct option from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D

10 gg:;tt?:ll.m"[%: E;?iil:ﬁt;:g s&tg(:nn;i? 15 Unnecessary| Crucial Needless | Unwanted
11 | The synonym of “foe” is: Relative Enemy Friend Companion
12 | They already____ Their home task. Do Did Has done | Have done
13 | The antonym of “mighty” is: Weak Grand Powerful Strong
14 | The antonym of “bright” is: Shine Clear Dark Brilliant

Choose the correct option according to grammar from the columns A, B, C and D and fill up the bubbles:

S# Questions A B C D |
15 The room was full, so I have no place to sit. It is Complex | Compound Simple Easy
@ mmmemmm-o- senstence:.
: Is None of
16 | All students___for prizes: Compete | Competes competing these
17 Someone ate my cookies. The underlined word Personal Relative Definite | Indefinite
is: pronoun pronoun pronoun | pronoun
18 How long you been working in this Has will Shall Have
department?
: 7 s isited Visit Have
19 | Last year, I many countries. Visited | Had visite isi visited
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MODEL PAPER FOR THE YEAR 2024 AND ONWARD
Class 10th,

——

W ENGLISH (Compulsory) (Subjective Part)
) " Time: 02:10 Hours Marks: 56
8 SECTION -1

2. Write short answers to any FIVE of the following questions:

(i) How can people achieve perfection in the moral, spiritual and social arcas?

(i1) s Chinese belief about people having character traits of animals a fact or an opinion?
(iii) Can modern technology take the place of books?

(iv) How do newspapers give us in depth coverage?

(v) Why is wind compared to a monster of destruction?

(vi) Why did the prisoner support Pip?

(vii) Why did the villager ask Hazrat Umar Frooq (~i I\ il ,~2)) to delay the execution?
(viii) How are water resources under great stress?

SECTION -1I

3. Translate the following paragraph into Urdu. OR  Rewrite the paragraph in simple English: 08
Pip and his friend decided that London was too dangerous for the wanted man. They thought
that Pip should take him abroad. As he attempted to board a ship, he was caught by the police. At his
trial in the court he was sentenced to death by the judge. Before he could be hanged, he died in prison.

By law all his money belonged to the government. So Pip had to find a job to support himself. He
became a clerk in his friend's office.

10

4. Write the summary of the poem “Peace” by Dr. Hartmann. OR
Paraphrase the following lines into simple English with reference to the context:
1 hear leaves drinking rain;
1 hear rich leaves on top
Giving the poor beneath
Drop after drop;

05

5. Write an essay of 150-200 words on any ONE of the following topics:
(i) A True Muslim (ii) Life in a Big City (iii) Junk Food
: OR
Write a paragraph of 100-150 words on any one of the following topics:
(i) A Visit to a Historical Place (i) Pakistani Women (iii) A Picnic

15

6. Change any FIVE of the following sentences into indirect form:
(i) Afshan said, “I am sewing mother’s shirt.”
(ii) The teacher said, “Do not make a noise.”
(iii) He said, “Alas! I am ruined.”
(iv) He said, “I hope you will not repeat this mistake.”
(v) He said to his sister, “Please say something,”
(vi) She says, “I hope I am not late.”
(vii) He said to the stranger, “I do not recognize you.”
(viii) She said, “Where do you live?” ’

05

7. Use any FIVE of the following pair of words in your own sentences:

() Bale:Bail (i) Cool:Cold  (iii) Elder:Older (iv) Medal : Meddle
(V) Heal:Heel  (vi) Prophet:Profit (vii) Role:Roll (viii) Sink : Drown

05

8. Translate the following paragraph into ENGLISH:;
. ARt - 5 - ) - < -,y b3 .
1 Loz S 1l PG T 2 L L sy an Ao ns 3t S BN 17 9L
KU:T&J){LJLZY:_(’Q/@TL dﬂfg\;dlmj}q&/;‘/\‘ L3»s ..lwgr—bgllb{kﬂ_ulﬁ) %

..,'_.ufbl:,/é

08

OR Write TEN sentences about “Physical Fitness”.
He began

vlolenﬂh T i
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10th O bkuetS

<

Mir Zafar Ullah Jamali belonged to provience of
Pakistan

KPK

Sindh

Punjab

Balochistan

10 Billion Tree Tsunami was project of
Imran Khan

Nawaz Sharif

Shahid Khagan Abbasi

Raja Pervez Ashraf

Capital of Sri Lanka is

Chitagang

Dhaka

Colombo

Male

SAARC was established.

A country's relationship with other country is
called

Economic Policy

Education Policy

Admission Policy

Foreign Policy

The second most important food crop of Pakistan
Makai

Rice

Millet

Wheat
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Marble is found in teh district of Balochistan -ﬁ:.b'lggg//.ﬁufd"’éiubzﬁ-'r

Khuzdar Ja A
Quetta 2B
Chagai J-_:lp-C
Sui Jr.D
An agreement was singed between Pakistan and -lm;fb»ulﬂ:ﬁul"/gulul?ng,}ﬂgsogs
India in 1960

Lahore declaration 27 Uoploe L A
Indus water trety rabeb/ bos-.B
Islamabad Agreement s Trb-toalseC
Dehli Agreement Ju.-.;.'u-_D
The author of Qisa Sohni Mahiwal is Sl N .9
Fazal Shah aLiJ"j_
Hashim Shah 418
Mian Muhammad Bux Fhe-C
Hafiz Barkhurdar Mufzesle-D
The First MPA to be elected after the creation of “UMPAFL L i n Pl el rB-10
Pakistan is

Sardar Gopi Singh f‘gé:'jly.A
Balwant Singh Feih B
Hari Charan Singh a":u,?/:-C
Ramesh Singh a"J":z-D

Write short Answer of Any Six Questions?  JJz/=liz A = ivbe (2.0

What is the importance of Moterway? ‘-'r:_.:ﬁ't_g/sfz_:f'r‘J
What is the proceedure of electing President of S UKD A L YT e 2
Pakistan?

Write the two main objectives of teh local o $lind pBL UPES w0t Sy 23
governmnet system of Geenral Pervaiz Mushraf. -5:
Write any two agriculture reforms of Zulfiqar Ali -afS_/f;LvMJouﬁ&Gm-4
Bhutto.

What do you know about 14th constitutent -UEL?JYTJL’-’L(-{}&’Q:’::;-S

amendment.



Write the names of any four Central Asian -g{;ﬁ?téjuéyésﬁjggéﬁs

countreis.

Explain Pealestine problem in two sentence e AuM el il 2
When was teh organization of islamic Co-operation —e M Puaeb i U_’J_'.f(y K(f’gju/!-B
established and where its headquarter is?

What is meant by santo Agreement? -l Freabe 9
Write Answer of any six questions. -é_x/".«.wrﬂ""’z.-,tlvgecd,ﬁs-u
What is meat by defense indutry Ve { T
Define economic grwoth. NS A0 %)
In which industries sulfur is used? 2 rlggfdb'élu.'u;*“’u(_ﬁ,‘fB
When and wehre was the largest deposit of natural ?In;bg»ulv_@!__f.s/.?'z"*/.:___/(m@:ﬁu!uwl-4
gass discovered in Pakistan?

Write the names of any four important imports of -u‘.‘.’f‘t‘f_auL}fTb’nguUfg-S
Pakistan?

Write four important educational problems of ..i//\j\./d‘ujigé ub@-B
Pakistan.

How can we balance between water resources and ?cg.CC@gﬁG'grqu?uszL Sl 7
population?

Write any four responsiblities promotion of tourism - 'fuLJb.»MJﬂffgu { zgi,; )f..,:
What is meant by chartre of Medina. Sl ez a9
Write important reforms of Muhammad ..:«loll—ﬂ(flgﬁ990-93u:6::‘£,£bé‘)ilij.4-u
Nawaz Sharif's first term 1990-93 -’fé_/f;dfg
Write down problems faced by power ;fz:lfdﬁ.fd’(ubﬂd’bu?»/:ﬁﬁé@iut’—@&J
sector in Pakistan and suggestions to solve -g?
them.

Wrte a note on follwoing ol S 3tn-6-
Pak-China Friendship GrniJi-A
How Educational structure of Pakistan is -4.@#4’.,;:(.“;:'@5@“"’(@{;@«.5

help full in Education.
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PAPER GENERAL SCIENCE (OBJECTIVE)

¥ Sz

o 12
e At den| IS oy~ Ui il
The ramalining of nuclear fuel Is called .., Fossil Fuel Nuclear Waste Biomass Soild Waste
i} Ly Jz o o/
_____ Tha unit of Power I8 Walt Joul Newton Gram
oG Jlk'(d-/'llﬂr‘c.,,nd/ . ‘-;gu:(-'u/ J.,'ld""é JIL oA Gty
Tha enargy present In a body due to its| Potential energy Elastic energy | nuclear energy | Kineticenergy
position is called
.;_.:,szu:u)FLﬂu & Sy JE}JJ’V{ [
The Constant is ohm's Law s Current Reslistance Potential Charge
Difference
- et e, LLL =¥ rrde Fiy Y »n M
The .. is used to detect the Hydrometer Hygrometer | Galvanometer| Ammter
presence of current
et s sy | o ,.,, » pre
Which device increase or decrese the Transformer Fuse Capacitor Regulator
A.C. Voltage.
ey LAMPY v [ W C
The Symbol of Potential difference Is
P O A # 5
Which Is an input device. Printer Monitor Scanner Speaker
- Eb e 2rcfi sl g e Lergin )4 ] Ju
To draw picture and design on the | Word Processing Graphics Data E-mall
computer is called Mangment
- .'.:/J Proe .,;/uu( L .7)/’ (/4 .(:ﬁ/.: \.'A/ 13
In Which sllicon belongs to group 5th Group 4th Group 3rd Group 2nd Group
b s 9y 1sf 20 At A YA
Which rays are not affected by electric or Alpha rays Beta radiation Gama Light rays
magnetic field radiation
QPG e S e ip| W SIAP (S (rn (A
The Three dimensional pictures taken by Thrice Hologram Homogram Hetrogram
laser is called Photogram
el LH Ly b oS ¥ oo
The Laser is used In operation of Contract Xenon Krypton Neon Argon
et oa LIS L i { ORE N ¥ AL vE
The heating of ORE with carbon and lime Steel Iron Pig lron Copper
ston gives
15 btk Lol W | G 7 |
The name of first artficial satellite of Skikwa Sputnik | Rehbar Badar |
Pakistan.

Paper Setter :  IFTIKHAR ALI (SST) Science” t/
Gowvt, M.C, High Scheol . shawatni -
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4 ¥
A MODEL PAPER GENERAL SCIENCE 10th Jl2
/"' Q2 Write answers lo any six Parts ~ 6x2= 12 \,_'/}/'_;,yg,iz,ng-,'-‘_j,’ 2 A0y
/,’ Define Work and Wnte its unit? ,.‘(;_-;zo’_ﬂ,,' g—’.;;ff...f; (1)
/ Define Kinetic Energy? VJ_;}JJ.)'_@J( (0]

What are two Hazards of Nuclear Fuel? V.‘(L:.')‘n.}’ue._):!ﬁ"i (in)

Waht is meant by law of conservation of energy? -.;;'/y’c_dix_ib:-"u'/ (v)

Which force causes to stop the ball? “_gj-.,,— r":,L;,;.}.,r}’ )

What you know about solar Pannels? T zZeV_ L AL For (vi)

What is resistance? 33 U ™ii (vi)

Define Ohm's Law? qu.gf'.ful?&ﬁ:' (viii)

Waht is meant ny electric Current 2 SsZ L/ (ix)

Q: 3: Write short answers to any six parts.” (6x2= 12) q/,//'.-_g'z/‘?z:uz'gc.éf 340
Define Microfrad? /S35 ()

Write the function of transformer? 825, %0 (i)

Write two uses of Ammeter? == 1l 44 (i)

Define " Telegraph" J‘q/.éﬂf.i:f&f (iv)

Write the importance of e-mail in daily life? ?u."{-{lJJ-’d"ﬂ&i}:/Ju v)

What do you know about Floppy disc? -ugz‘_gl_f.',f,;ug L_C G (vi)

What is meant by Monitor?  fe_slple Z0 (vi)

Waht are radio waves? - zdselGisrt, (viil)

Define compact Disc ? -y AL L1l (ix)

Q# 4: Write answers to any six parts.” (6x2= 12) .,{/j.:,uzrél.lzq;.}f 4
Define Holography? =y Af35 ()

Write two advantages of fiber optics? U= 13,2 Uj"/'.' ¢ ()

Write the two isotops of Chlorine? -/ /ZAR% e (i)

What do you know about MRI? S22 bU_T2e ALJLIE (i)

Why X-Ray not passes through bones? -Gczlf‘ﬁi)[c_up:;;ﬂ )

Write the name of important industries of Pakistan? -4.?4[.:5 ,'-.:-r(:'&-,-v’g (Vi)

Write basic purpose of SUPARCO?- 4@-5-6.-95_,59 (vii)

Write two uses of Neclear technology in progress of agriculture? -4“:, llt&'::éfgﬂéigfuu:.f.&;'k&'/'.‘} (viil)
How does Rocket Works? . e b/fptleflc (i)

Section -Il (Each question carries Eight (08) Makrs. ( ug/:}:"f.f_dlm) (1
Write down four suggestions for save of energy -é_//—z,@ga’.éi.t{-&i‘ (@ Q#S5
Write detailed note on nuclear power? -q)}/{w\}fingﬁ&' {®)
Write two types of Capacitors and their uses.? - 40\)\-"'(0'/:'(0!»&*’5{ (@ Q. #6
Explain Polential difference.? -u_/_-.au,&rl)u’% )
Want do you know about N-Type and P-Type semi conductors.? .12 bl e A LIPS0ty (@) Q # 7
How information are collected on internet? -z Jbdf Shad Ytz (b)
Write down the uses of radio isotopes? -f:_-(ﬁ";’.ﬁuﬁ':';;fﬁl (8 Q#8
Write a note on sugar industry? &5, f;,){d;-}u;ﬁ (b)
Describe the importance of space programme of Pakistan? -xj_fuk.-,.ﬁlJ(%{u:fLuL'fg (@ Q.#9.

Write down some advantages of satellites? -:a_o'.t’l:";giu"'&*’ (b)
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MODEL PAPER (10TH CLASS)

MOLOGY (Objective Type ) GAS) sl
Paper : 11 | Y,

Time Allowed : 15 Minutes o 15 1 =
Maximum Marks : 12 12 : AF

Lo lRerne u-'.'u;;béé.:&.bﬁdk;{dﬂtﬂ SLEDHCBA .:«Lb?;f/kﬁdlr/; Oy
Koo e Sl SG ok | LI imlie LI Sy LI I3 S

Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The process of respiration in plants takes place during : : ‘Ltﬂk}f Kfo’ l_/.'JLF Uy 1-1
At night =nL e (B) Day time =3 s (A)
At morning and evening &:&(Liulff (D) Allthe time =334 (C)
Halophytes are found in : : uijL&u’%:‘s 2
Sea waler V4 Jidu:f (B)  Fresh water S J‘l'u't' (A)
Moderate environment %J#Lé_L (D) Dry environment % J7l B (€)
Genelics is the branch of biology in which we study : :.c.tngJL‘rfu-'gf:‘aé!/.a:J Gl oaSaa |3
Reproduction ¥4/¥ (D)  Inheritance K=l (C)  Microbes ! ()  Environment KL (A)
A pond is an example of : : 9dt>vur~.ﬁ 4
Biome rJIJL (D) Ecosystem J(L/J-rl (C) Community JLS')! (B) Population Ju%‘& (A)
Which plant is not carnivores : : ‘aui‘i}:}ﬁ;glif 5
Venus fly trap h‘._.c/'tj LliJ-"v (D)  Pitcher plant d«-l{; /5 (C) Cactus ‘IQ.Q/ (B) Sundew 23/ (A)
Which one part of brain is present on the top of medulla : : ‘gt'm;?:’{:lﬁu:y.a?lﬁ:(ff/bc_uful 6
Thalamus /2% (D)  Cerebrum [z (C) Pons 7| (B) Mid brain /2% (A)

Which one of these is a muscular structure present below c._dm;zrg',éu:zﬁ.-él/):c‘._{lgffcgﬁul 7
the lungs :

Diaphragm rl/'y 3 (D) Alveoli JU;_’.'.L.' (C)-  Voicebox =#JT (B) Trachea l;{/’ (A)
Which one is source of variations : : 94;5K;,l,£*".gufcwul 8
Mutation ui:;;‘ (D) Translation ¢ 2 l/' (C) Transcription ua/pl) (B) Guttation ua_f (A)
Which one is the reservoir of free gaseous nitrogen : : ‘aajjb’d’-:/"'t:')fvgu‘fc__tﬂul 9
Water d‘L' (D) Atmosphere 1 (C)  Consumers }/‘z‘f( (B)  Producers joghy (A)
Double fertilization results into : e b SN A3 10
Egg and triploid endosperm nucleus oﬁlu'u’ﬁ'f:'(/‘_:i'gli'lk/' (B) owule J#»! (A)
Egg only 1413~ (D) Diploid endosperm nucleus u"'ffirg:lf;l}:_f-l{ﬁ (C)
Stomata are present in : Pl szt |11
Phloemufrf;u (D)  Xylem uﬁ'rgl} (C)  Endodermis U /314! (B)  Epidermis g}:gﬁi({xl (A)
Cytosine always forms hydrogen bond with : : 9.8!.-,.3:;&,1)«_: (B0 o ;’(jl’ 12

Protein &y (D)  Adenine <24 (C)  Guanine =o't (B)  Thymine = c2Ji% (A)

< ~
\ 7
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’ MODEL PAPER (10TH CLASS)

*/ bt
' .BIOLOGY (Essay Type) Co7200) oyl
= Paper : II I 2y
Time Allowed : 1.45 hours 2145 D
Maximum Marks : 48 ( PART-1 J5i ) a8 A
10 2. Write short answers to any Five (5) questions :  : & =iz & £ i (5) §y = Jf -2
(i) Describe structure and function of alveolus. -é o% J’l,l.;.i \,J‘/z #1 ()
(i) Write symptoms of asthma. -a:fgi.;th,; ()
(iii) Describe two harmful effects of smoking on human health. -..‘{.g uL«.:«'}'-_ andhl e Ju‘lﬁ ()
(iv) What is meant by homeostasis? ?4..,1/9(-. J’-‘L 22 (iv)
(v) Define osmosis. -'{: .é,'/‘UJ/ 9 (V)
(vi) Whatis meant by receptors? fe e ixts (Vi)
(vii) Briefly describe structure and function of motor neurons. - u;.'/'{)’ :;'.-) VJ sl (Vi)
(viii) Write the functions of insulin and glucagon. -’?-(/-Jb".ﬁ c)f b’;{nld‘!r’l (vili)
10 3. Write short answers to any Five (5) questions : : é‘! Ol 4 /" L iy (6) ‘t P Jf -3
(i) Write the name of two major types of bronchitis. -Z.“!(t.f. (U"'d z»J‘f"'ﬂu. (1)
(i) How sound is produced by larynx? ?+Jyrlé‘4}l; f;(_/? (il
(iii) Write the symptoms of kidney stones. (Any four) (lkkj/ )-IJ.-.W(UJU;"J)'/ ()
(iv) What is meant by myopia? T‘é,:'/gc_kﬂdt (Iv)
(v) What is meant by antagonistic action? fe Ve j‘: 16 G (v)
(vi) Define genotype and phenotype -é..yﬁ.'}riém.‘ng (vl)

(vii) What is fermentation? Write name of its two types -éf!ért)'n&jl fe :'/Lfc_u’-'p) (vii)
(viii) Define ecosystem -2£ .{’/’JH" £ (vill)
10 4. Write short answers to any Five (5) questions : s o o174 /’ L oy (6) &t P Jf -4

(i) What do you mean by the concept of * 3R's * with Tq_;'/v'a., }'L 3R'3Jw Liv.LéwJ,j ()]
reference to the conservation of natural resources? v

(i) Define deforestation and describe its causes .d_-,} 7 ,fl 1'4, ,t/g‘_dmfé e (Ily
(iii) Differentiate interspecific interactions and -éJMé“l;‘M)'M':.uG.ﬁn’}l (Ii)

intra specific interactions \
(iv) What are the different levels of ecological organization? SV b nSVL SIS TSN (V)

(V) What is meant by Genetically Modified Organism? How is it made? fe-tpite, fup ZL GMo (v)
(vi) Define glycolysis and write the name of its product - "J( {04 Sy LJ‘”'"—.{ /! J/ 1 (vi)
(vii) How are drugs classified based on their effects ‘< JL:L,(-’TI d*"--.’"J-'-'!”'{ ’!."vJ-"—'; 'LU’{(/" (i)

on the body? . / [
viii) Why do some drugs become addictive? i TEUL = b viil
Vi) ( PART 11 (1 2) i (vl
Note : Attempt any TWO questions. A |2 Lelrne JI( Y
4 5. (a) Whatsteps are involved in the formation of urine in the kidneys? Sz f1,2 /Z é.--r“va:U”/ (W) .5
(b) What are ligaments and tendons? What ‘-'u_fZ_-J(Lf'/JU't__fuiu_angy'ﬂ_:AU&Q (o)
functions do they perform? LG
4 6. (a) Describe negative feedback with JZE ol L B L in Lyl () .8
reference to insulin and glucagon.
5 Sl e UL Pl SonabodConl SirSy e § g, M PUA ()

(b) How does the process of binary fission differ between bacteria and unicellular eukaryotes in
term of organism involved and the steps of the process?

4 7. (@) Whatbasic steps a genetic engineer adopts < t'/.:l.'ﬁ'd:?'.:l f;i‘?’l_ﬁr‘.;ﬁﬂ‘/. /VL)\’- (W) o7

during the manipulation of genes.

5 (b) Describe the mode of action of vaccines. -’cfgub.'i_j)b’i_frb’..’:.yffg ()
¢ >
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Ko Nzoi e §E ST Sk | S smlie f - Es e SN

ek &/ (l( é Lo YUt s £ aip |11
:J:wl;,f (D) b= (C) =l (B) d»’t«af (A)

Ser 0)  sub,(C)  Sked (B) Skl (A) B od e S B | 2

21 (D) /‘)J:;?;l‘ff (C) J/(B) J(A) élty---fqda'(“j“zfé(fd‘ 3
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tely (5( = o df o ‘DELgﬁdy/Lu"ZJf?” 10
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/

/; w1082 0 = CUfs) sJs
Ty 60 AF

(Giv) 52

(Jit 2)
10 e Jf 2o ,L,ﬁl,,/,l;_ryy /W’J)_éc'/‘.’./ﬂu(/bﬁlédf;(gufiéu -2
S0 sl de e cdFS bt () (Fo)
ST U ibed Lo B J U b U7 d;.(f_ (ii)
Swit f e & [Lils LFFeo” aowk, i)
VT et & o L Vible o il ()
u & S ot useBlust F LIS LSS ) (o)
tﬁ; & ] rri Ust éd}”’ (2 u.fﬂ.:(j‘f(f( 67 sl (vi)

< B = $7 & o2 i g L Ul sk (vii)
(o 2)
5,5 G L 0o 5 0 UK e ¢ L G S oz ditn 3

J-fugéuré_ﬁw -‘ngjz‘;f'fc—él‘,n.‘alﬂ;_;‘.o;{j;lffgd‘/. G bl ()
CU I BT Sl ELnfBE 2By 2Bl S
SL st Ll -2 U%J»'Q:'fré‘fuf -G/r‘ﬁﬁrlﬂgff’c,g}”.ﬁlé &2 E
S by st -uﬁ’d&;&ufelﬁ‘/f(ﬂﬁ Uik $y caraab sl -ujé,ﬁélﬁ
b BT sl
Jo ey e ap BTEIST 4 UL Vot uditudisius? dn feadididl (O
SO ) A l/;fl(g")rt‘jg -mééé_ﬁé_h’/‘uldbfélm‘LJézcw
-éé’:// WUV:’LU:C’LL;J/ la?c';’m, FETIv J(UJ){_’J)' Eu/1 lffl/? /Kdyf..g
10 e L bl et ditn -4
S OV e U P (i) b2z Tud e mt e (i)
e IS e EUIIL pihesty (V) St St L ke (i)
?‘L;yg;i_nuu/(uu’fuw (vi) ?t_fﬁkﬁtw&—_&rwluwrt (v)
e SIS SLOS i) Seudirlid LEE e i
5 Speutnezd () S0 & sy r Ly s
15 ey <ther (i) e () & w o L 6
10 é _/]7 .:Jl,lﬁﬁolllréé_)ufjful _.dzc,/f-'fcwlf J;S(w) -7
&}LJ'?L%()’"&‘/.Z Tr/:’Z:UIU/L.) _u?dgz._KuL,;,;lmlféx&‘e’J»JJ}u:u):uwd;lf,
-lﬁ(f;fﬁ'&cﬂl -L:!},‘.{ﬁ/,l/,..fdK;/;l%'/}ldr)Jlig“/5/(g4ulilf,':'-”'),jtg -JélﬂZ;b?d/léQ{
Jj.}/, (}"4. (ﬁ-’ _iL‘/?L:'ﬂa,ul’T%}ffﬁJGﬁﬁ'J@/»uﬁAde%&b&Tﬁ}u;’»{tg
KJL'UUP/ riLb”ﬁugliwldl;l;_l;/kd_.&l?}ﬁftéﬂé&juf‘}'ét_k(ﬁdf.? J’o) -(3;?6);
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_SSC PART-II (10" Class) (MODEL PAPER)

PAPER-II

Ay

I/ 9-24,

6 A

“TIME ALLOWED: 15 Minutes

¢ i s 15 = =5

,-5;;.{'-531/!:.@_4&/“ J(u}hJl»'-‘;}.'ﬁ'-’:--._-")?c_ruc_\ﬂw}bié__l&b£Jfrﬁ4qb’d'ﬁ -gﬂé’%JD »C -lll/\ail;’.:j:‘:édlrﬁ

1 /./'dlr

You have four choices for cach objective type questionas A, B,C ¥t zufivt e SLS3SeMiS 3 i
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
0 C B A QUESTIONS /=ity Sr.No.
When PCE, reacts with CZ,to !
PCt, ;
\ o form PCY g, what will be present
PCI  only PCl,and CC PCt, onl 5
: ;’C( Cl,and PCE; ” : 6 2 JC{’ Y |in cquilibrium mixture?
S R Ct, «PCt y #PCL | S PCE
! i A LCl, bS8 PCLy
PCe; . .
s & W2 £ AR B PCE 3
o Which one of the following is 2
H* H,0 H,0* CH,COO" conjugate base of CH,COOH ?
L7 CH,COOH vufeifu
fe
Which one of the following is a 3
I H,0 BF, NH, Lewis acid?
' te i deof e tidizie
l .
Anthracite Bituminous Lignite Pcat Coal having 60% carbon content is 4
ey N el B called:
' e b e Kad 60 2R Xy
Vitamin Band | Vitamin A and Vitamin B Vitamin C Which one of these vitamins is fat 5
I D Bt C ot soluble?
E Bt DusAJ L ?.;_J‘-’r:,;vu/;g_'ye,d.
Onc of them is unsaturated 6 |
C. I C,H, C,H, C,H\, hydrocarbon:
e KX\ 0L
Stratosphere Mesosphere Troposphere Thermosphere | Just above the earth’s surface is: 7
ot o A s v} e I ALY St
Temporary hardness of water is 8
Ca(/1C0O,), MgSO0, MgCO, CaCO, due to:
R IR IrIn
[ The disease, which become a 9
I Jaundice Hepatitis Fluorosis Cholera causc of teeth and bones damage:
| o Nall¥ S o Y ST AR AN
[ - —
[ Nitrogen Carbon Nitrogen Ozone Which one does not pollute air? 10
i di(?xidc monoxide Aot sl “‘fd-‘)w'f'ﬁnu:{au‘:ul
ROy Wy
] - .
NI1L,COONH, | NH,CONH, | NII,CONII, | NI1,COONH, Formula of urea is: 1
-y 6Ly
B ) R ) o Raw materials, which are needed N
Kon CaCO, NII,CONIT, Na,C0O, in Solvay process:
-‘at'mb’n 2K U VAV
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. ~ SSCPART-I (10" Class) (MODEL PAPER) 2024 /J,J
-
! PAPER-II g J s
V) -.'l‘f,,‘:“LLOWED: 1.45 Hours L1145 = 5
MAXIMUM MARKS: 48 SUBJECTIVE A8~ 8 =4S
NOTE: \Write same question number and its parts number on answer book, as given In the question paper, -ﬁ-bl’cﬂ.;@.}lrfz;,{(-,/,,)z,,l,?dnro,4qr¢,_;,,,;
SECTION-I Jil»

Attempt any five parts. |T0 =2X5

-gif Lz 8/

z/d:\

How is dynamic equilibrium established? "Lfﬂflrl?cf(:/d:fl_ﬁ:ls m
()| Why are benzene and other compounds of benzene called S e Ud ol puLopmyy | (i)
aromatic? A T it
(iii) | What is the importance of natural gas? S caf Stz | (i)
_(‘i\’T— Define functional group and give its example. -éJdi‘/uﬁ»'éJ/J._,/J"@ (iv)
(v) | Whatis the function of DNA? e, j’:' woNa | ™)
(vi) | Write names of two acids which used in manufacture of LRSS 2 F L sy | (VD)
fertilizers. < Lea-d %
(vii) | Write two important properties of salts. E i i S | (viny
(viii) | Define normal and basic salts. -_éiél/i&,r”b.cgmd,t (viii)
3. Attempt any five parts. 10=2 X5 - lizmbie 8 34y
(D) Why does H* ion act as a Lewis acid? ?.errb’u[/,u"é,q:gg‘ji | O
(ii) | How do plants synthesize carbohydrates? SRS AUNE (L rh) S | G
(i) | Write the types of vitamins. ) Jru"; Jye; Gin)
(iv) | Difl ferentiate between soft and hard water. i e nd ot iz (iv)
"What is the cause of hardness in water? o S W‘JL o)
R AR A Y
What is the principle of Solvay’s Process? S (vi)——
- ’-,-
Define pH. What is the pH of pure water? ‘.'c_Jfo pH JJLJJG”'éJ/JJ ol (vii)
(viii) | Write names of two acids, used in preservation of food. Sl L /'B:"‘fii;&;(té sy | (Vidi)
Al g d- Jidls
4. Attempt any five parts. l 10=2X5 -Ef'-—/.foylém&gadf 4/.d';
How does the acid rain increase the acidity of soil? S Gyl il S | @
: L& 0.4 Var
(i) | How is ammonia prepared for the synthesis of urea? S bt S St (in
& 4 A2 0 - J_ v/
—(E)" Write uses of Kerosene oil. UL-H[_JTJ’ / Gin)
=0 Ju s
‘(iV) Write the major sources of COand CO, . __ég.u-‘_./_‘_,'é CO, 5 CO (iv)
"—’(v) Differentiate between primary and secondary air pollutants. 5 "'rff}d i 'd;;‘ Zip| O
~Se~J 2 VIAT 2 /_ d
(vi) | What do you know about ozone hole? S T L AL rigo i)
bl U qui]]
"(vii) Write down the importance of methane, -_éuft_/l,[..-/_:l&/_j-" (vii)
"(viii) | Write down the classification of coal.  saes g x| O
| SECTION-Il (».o h
,_]S?TE: Attempt any two questions. 18=2 X9 -gflj.:;leaUlr;;;.Jf i
S.(A) | How does polarity of water molecule plays a role to ¢ : e 5 ,
dissolve the substances? Wl JLU%K&A!J% (-5
(B) | Write difference between forward and reverse reactions. Ljenl Ao sl )
6—(_/\)_ A—H(:g;ilsnurcu manufactured? Explain it by flow sheet “1—15-{-{’/?'5-‘?:5‘-'(,-?%(/?414 (-6
-é;)ul
(B) | Prepare alkenes by dehydration of alcohol and e
dehydrohalogenation of alkyl halide. g ung“"‘d"'w’JJ'ﬂ )
(Alkenes) e s L 24
...L:r/l_}'
7(A) | What are Lewis acids and bases? Explain with examples. ol GBS A Ak (;l)“",'/_
(B) | Explain fat soluble and water soluble vitamins, with example. /Q)‘J:J“/J/..e,‘)_:’,;,,,,,‘}::’,& )
-_éc)u;
i “—L“—,_._.,,
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‘v SSC PART-II (10" Class) (MODEL PAPER)
JASTRY  PAPER-II
> yu-z4
TIME 4 ‘ / ‘: : i J )
]"”111_41\#[ LOWED: 15 Minutes as 15 = o,
MAXIMUM MARKS: 12 OBJECTIVEY > 2 ;
:-g.—.f{:;%awzt ﬁ;-;sw&w&._,m_-/u:_u:u;;ui2_.:'41,[.._):r,;44b’q',z .wiz,;o MCBAMZ L kL iy /
You have four choices for cach objective type questionas A, B,C  -Krwrseizuf il eSS4/l Sidum
and D, The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet,
| Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
L C B A QUESTIONS /=iy Sr.No
For a reaction between PC¢, and I
mol dm’ mol " dm* mol™ dm™ mol dm™ (%3 0 omT G the TIGL
K, are:
g_LLb. PCfs = ng »l PCE_‘
a1 L K p iy
" Mixed salts Normal salts Double salts Complex salts | Ca(OCt)C¢ is an example of: 2
At A s At ol Ca(OCE)CE
" Coal gas Coal Coal tar Coke Pitch is black residue of which? 3
el 1 174 feds 374 el U8
- Identify which one of the following 4
(cn,),Ccrce | (Cf,),NH (CH,),CO | (CH,),CHOH compounds is a ketone?
Se ol e ViU 5 ey S st
The order of reactivity of hydrogen 5 j
HBr < IICL HC( > HBr HBr > HI HI > HBr halides with alkenes is:
eI R AL
~ Maltosc Fructose Glucose Sucrose The most important oligosaccharide 6
A 3 ¥ nkF is: -.7_.‘(1/’:.0,1(-1;__/
—' Infrared radiations emitted by the 7
0, and CO, CO, and N, N, and O, CO, and H,0 | earth are absorbed by which?
CO, » O, N, » CO, 0, # N, H,0 » CO, LS AL P st et
b
NO, gas SO, gas CO, gas SO, gas Normally rain water is weakly acidic| 8
8 i because of which gas?
ANO v? SO vICo v S0 g
2 2 2 : JA‘{I[L;)JJJJL')ILJEKJJL/#)’("
fetn
35 kilometers | 30 kilometers | 15 kilometers | 11 kilometers | About 75% atmosphere’s mass lic 9
#F35 #¥30 #E15 #E1 within __
et A8 LKA
Limestone | Limewater Slacked lime Quick lime Temporary hardness of water is 10
iz Qb s Belald Lol removed by adding which salt?
4 % ' Pe bW SN ol VA b AL
" Taundice Cholcra Hepatitis Fluorosis Which disease is causcs bones and | 11|
iz 3 S S tecth damage?
N fe ey o, .,nJ Py YA IVIVLY:
Which one of the following fraction | 12
Dicsel oil Fuel oil Lubricating oil Kerosene oil | is used as jet fuel?
STz J1J2 Jied) S04 b b etz
?‘LJ.W
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P ART-I1 (10" Class) (MODEL PAPER) 2024 /ﬂ
J"’(‘t"\‘ a fo
<SSHEMISTRY PAPER-II
Y ANt
TIMNJALLOWED: 1.45 Hours L 145 %
. = oy
XIMUM MARKS: 4 = ;
MAXIMUN S: 48 SUBJECTIVE 2. 48 = A
NoTE: Write same question number and its parts number on answer book, as given in the question paper. ..-,buagwrﬂ&w/zmﬁ’dwuqqr‘p_w;
SECTION-1 i
Attempt any five parts. 10=2 X5 -_4‘:4)’:4'1&'21&&41( 2y
Write two macroscopic characteristics of ; =TI AL
| | forward reaction. -ep J’ﬁ 1Endigssun | @)
(ii) | Why at equilibrium state reaction does not stop? ?U’zuﬁ;ufui-('d/d:)btfﬂ/dfl (i)
(iii) | Define functional group and give an example, e LinZE s P JFE | (i)
(iv) | What is isomerism? Write two isomers of butane, i il f S Wi T (iv)
(v) | What are heterocyclic compounds? Give two examples. 0 /e'u;’f,,,w_n_f,-;cgg_ﬁé% | (V)
(vi) | Define pitch and give its uses. v Ly F 5% (vi)
(vii) | How proteins arc formed? WX s ‘ (vii)
(viii) | Describe two properties of polysaccharides. L st 4 &y (viii)
3. Attempt any five parts. 10=2 X5 =g /j.:«;lf.LIZl&lc-Jf 32y
) What are an Amphoteric compounds? Give an example. et kS 2 ()
(i1) | Write two characteristics of salts. ZKiollns L”.;'HJJ‘JV (i)
(iii) | Why the alkenes are called ‘olefins’? ‘U-'JU} ';d:" w_f?(, (iii)
(iv) | Write the physical properties of alkanes. i fe lar"d'btf/(' (iv)
(v) | Write two uses of kerosenc oil. ,.u:_ Ub:":J—LJ/TJ’:f/ )
(_vi) What is the principle of Solvay’s process? -?LL{J);W/\J/)/L—!’V (vi)
(vii) | What is the difference between Crude oil and S v . o vii
Residual oil? R e I
(viii) | Write the raw materials used in the preparation of urca. A2 il S LSy (viii)
4. Attempt any five parts. 10=2 X5 _ézjalliélm&c—df a4y
_(’i)— How does acid rain increase the acidity of soil? ?LJfJulJGJJIJu"L}"L/L'/JP' )
—(i’i)— Differential between primary and secondary air J{ S one e B i
| pollutants. -Enr st M s S L | ()
(iii) | What is meant by Atmosphere? St pS e (iii)
_(_i;)_— What is ozone hole? Where it was noticed first? Wy;;'muu’ar__l/ “c-_lfdru: i (iv)
PASRNY Gz X U0
(v) | Differentiate between soft and hard water. sy il v)

] _(Xl) How does water dllsszlve;ugar and al;ohol? uud’éfﬁmf;usag (vi)
(vii) | Write any two methods of prevention from water P - ; 1| (vii)
borne discases. - )HL;JL;LU!IEJ"L”%(—?’J&

i -S|
(viii) | Write down two disadvantages of detergents. L et L (viii)
SECTION-II (o
NOTE: Attempt any (wo questions. 18=2 X9 -a‘;’-:dc.uzéomrua.df sy
—5.(/\) What are proteins? Write any four sources and uses -ézfouWILuml'/znbé-}:'u‘.u,rbﬂ'/.'u (LS

of proteins. o ¥ TR
| (B) | Define equilibrium constant. Explain equilibrium L LN s s JEaINESSh (._:)—
constant units for given reaction. ) éﬁ g Vi sk .
N, +3H, = 2N, -l LB AR
N,+3H, = 2NH,
6.(A) | Explain the Lewis concept of acids and bases. Sl F Ll (J,);
(B) | Give two methods of removal of temporary hardness SURIn L SPFAS LA < )
of water. s : ’
=0l
7.(A) | Write the advantages of Solvay’s process. ) S ey (_;J_n)j‘/-
(B) | Describe two methods for the preparation of alkenes. ~£ul_,.'4 Pl Gzl /.!, )
—— e T T SRR | T T oam—
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ADVANCED ISLAMIC STUDIES (ELECTIVE) PAPER-II Im-zs ( g"pl ) g2 L2
TIME ALLOWED: 20 Minutes e 20 = =y

MAXIMUM MARKS: 15

OBJECTIVE (%>

15 =

AF

Q.No.1 You have four cholces for each objective type

& A b\ IS AW L e nef U dms v E g (W8 - Bl D 41 C B A NRT g Lirs
-fmﬂ}"?uuﬁgﬁ.&a‘lﬂ_& JoX L LS ssmlia L

1 A

question as A, B, C and D. The choice which you think Is correct, fill that bubble in front of that question number, on bubble Q-N°-1 .
sheet. Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
o c B A Questions / = sr.No.
Apologetic Insulting Hard Soft If the needy ask what should be our attitude? | 1
et Rz =5 % se bl i S riran/hi
Cruelty Justice Riot Peace Without research speaking or doing 2
Hs Jx U s things will happen in the society:
bl poe d SpH L AR
Failure Greediness Selfishness Foolishness |Jealousy is the result of: 3
KKt KU hs gdot ce £
Skills Knowledge Trade Justice In the present era, the development and 4
1/ <H‘ g {Jﬁ prosperity of the world is depend on:
e suso 8P 3S LrLsny
Traveller Poor people Orphans Poor relatives | The most deserving of Aims and charity are: 5
s A e ey g e Lcris
Five Four Three Two In the light of Ayat-ul-Bir very hard and severe| 6
éL e uf » occasions of patience have been described:
) G no BT JE AL G
Opinion Honor Property Life The greatest right of a muslim over another 7
2z =/ J ol muslimis: - J1% e ey mfU-tl
If there is any insolence or disrespect 8
Hajj Fasting Prayer Repentance |towards the parents it should be done
¢ 0Jss il 27 immediately:
bl WS R TL S
Color Lineage Piety Shape The standard of honor is: 9
£ - §# i ] O g
Surah Falag Surah IKhlas Surah Quraish Surah Feel In which Surah the root of shirk is cut? 10
For St Hur Sor O s e Ry
Earning Business Trade Knowledge All the professions and skills in the world are:| 11
dv Ak = & Uil s 2 L
Jihad Hajj Fast Prayer The soul of Arkan-e-Islam Is: 12
P L Sy W -g_z,,,Jr.wgm
» 63“'! CJ"‘ 3 It Is past tense: 13
-1'-05 hf‘
Government Neighbours Relatives Parents To provide livelihood is the duty of: 14
P (LA Yr 2L - PSS i3
Active verb Perfect Imperfect Pronoun According to Arabic grammar ** J3il JUS ™ is: | 15
J’/“J’) compound compound /f(" -t“_c_.m!/l/‘d/ R 4
(7 Sy
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A‘DvANc{»‘{ISLAMIC STUDIES (ELECTIVE) PAPER-II

2024

A

-2y ( z'p' ) YLt

TME ALLOWED: 2.10 Hours  2£2.10= 5, |

SUBJECTIVE

20

MAXIMUM MARKS: 60 = AF

NOTE: Write same question number and its part number on answer book, as glvon In the question papor.

G- IR L iz A d0ir L u )

SECTION-| Jil»

—

2. Attempt any five parts. I 10=2x5 -{SI)’@M&IZI&&;JI 2740y
[0) Explain the chart of actions. AU ) TR (i)
(in) Explain the third stage of resurrection. -_L.'-’ .:—)G:JJ»ﬂ_ ALy (ii)
(m) Write two main reasons for bad deeds. -éj [/::-kmu' ‘/.»Juzuu, (iii)
(iv) Write two qualities of guided people. -_é/fdkﬁngfdf:’:'_k;dg (iv)
(v) Explain the two beneficiaries of spending for God's pleasure. -_Z_-.‘:)List:‘;-;;u.’i_/bi'{‘_.L&lLU/ (v)
(1) Explain the concept of true goodness. -g_‘_f C lu,".ﬂﬁ‘}? (vi)
(vij | Explain two exireme cases of patience. oS Birateanl 2 | (i)
(viii) | Write the importance of testimony in justice system. EE fent S LI | (i)
3. Attempt any five parts. 10=2x5 -é;f.:.p.eélz:&g:.df -3/&."1’
[0) Write two benefits of being thankful. _5’5/]:"!}»& LA (i)
(i) Write two rights of neighbours. -é-’_/,‘biméuzu (ii)
(iii) Write two effects of introduction of Salam on the society. -égfal;':qs/‘b‘.’:i_/‘ﬁﬁﬁ(u’ (iii)
(iv) |write the meaning of racism. L fpt e | (W)
(v) Write two qualities of happy person. -é{fbk}n;{dljlﬂ:«)b’ (v)
(vi) Write two disadvantages of arrogance. _é’_,/:—,tuﬁué /G (vi)
(viiy | Write two personal disadvantages of the jealous. E et il sl | (vil)
(vii) | Write excellent example of the unity of Muslims according to Hadith. -_é_/fdr'm/._ﬁ‘_ﬂmiu WLl e (viii)
4. Attempt any five parts. 10=2x5 -g{(]’gyz[_lzl&l'.c_df _a )y
(i) Write the meaning of Faith Khatm-e-Nabuvat. _é{ / /’r,}'g;gfs. g 0}
(i) Write two effects of Touheed in character building. ~Efednl e isdenS | @)
(i) | Write the meaning of purity in thought. b | G
(iv) Explain the difference between the virtues of scholar and a devotee. Y C’ oAt _.,1_,4"( ‘-‘“"H" (V)
w) Write two reasons for misrepresentation in testimony in courts. -éffe«k'»éémﬁwﬁﬁum o)
(vi) |Prove that jihad is the soul of elements of Islam _‘L(J,,Jrlwum,tﬂfgap (i)
(vi) Write down the four lawful sources of livelihood in the present age. -.Z.'-’_/;é'/ifbl'vﬁLlfd:'uu:umz:' (vii)
(vii) | Explain the circle of modesty and chastity. -é-f_—;L},J;}l,&?,;i-‘ (viii)
SECTION-Il  fue
5 Translate and explain any two of the following Quranic Aayaat: I 10=5+5 l _:éf;;i,|_;_;(___&r,,_5/=_¢_._y'&,'/‘wa,, _5

) 0 piad (il LIS 0yl (il 5135¥ ()
(8) b o Ty G s 54 Baaia § gsas 8 ()
(©) ¢ isdl i 1320l $34) §ala 1) @)

6 Translate and explain briefly any one of the following Blessed "AHADIS". 5 -,‘f 5«-!.2}&’..(1‘{2_‘;:.)’,\‘.».&,1,@;(,;: -6
(B)  apihy hej o dalll (2 IR S PR R @)

7. Write down the answers of any two parts of the following 5+5 S W liin S re Bt T
(A) Wiite the effects of Ageeda-e-Touheed on human character building. -3__‘1}/{;&2,&)’3&'&& had ()
(B) What are the effects of purification on the human body and soul? TugL:f._.;/_-.‘}'L_J'{Lun'f"JLJ'C:-JQ ().
(C) Wnite five main qualities of Islamic prayers. _.;:;-',/'.-,y.-ﬁd;t_;:é;‘!_-.uwlw @)

8 Write the answer of one part 5 _g_;(!f__,lxﬁz._fkfr e

(A) Write definition of Aorist verb and give three examples in Arabic.

(B) Define noun phrase and write three examples in Arabic.

AL p s A (|
- fA L g Al (L)
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. SUR CAadn) 1 aujolPAse i e /U
ADVANCED 1Sto-AGSTUDIES (ELECTIVE) PAPGRAI e ge (i) gLl
TIME ALLOWED: 20 Minutes w20 8 )
MAXIMUM MARKS: 15 OBJECTIVE (3 | 16 = AF

B A4 e | AR ki U0 et Wi W R sl Ldes Dl © o) 1A sl L s 1 /}d,’,
Q.No.t You have four cholces tor each objective type .fnﬁw‘.uuﬁaunﬂ.ﬂ vy A L.)fw.ﬂmpa...p 2
question as A, B, C and D, The cholce which you think la correat, fill that bubble In front of that question number, on bubble Q.No.1.
sheet. Use marker or pen to fill the bubbles, Cutting or filling two or mora bubblea will reauit In 2ero mark In that question,
D Cc B A Quoatione / wlly 8r.No,
To barren the Rain of stones Intenaity of flood | To exploda tha |The blg slgn of day of Judgement Is: 1
earth S A .-..-‘J'.‘.it aky ..;.JWUA:J.VF
e AN LI {
Pious students Hardworking Healthy students | Rich students | The good news of heavan, In 2
FAL S students FALXIE FACIN) Quran-e-Majoad la glven to:
A" -ShebfantSful)
The mountains | The deads will be Tl‘w stars will The sea will flow | What will happen when the trumpet will 3
will fiy alive scalter d:.,:”..,gw be blown In second stage?
L pting Py SNy .f_'u_"l_,/":_,rf S LAt o on
Apostasy Polytheism Hypocrisy Disbellef The difference between outward actions 4
Y g o- U )’ and Inward thoughts of a parson Is called:
-Gt P il S5
Deeds Beliefs Worship Matters The good reward of all the good deeds of 6
o L= LB (=by (bbb whole life of a person depends upon:
- ML Yol Siifuonsts”
Charity Patience Justice Mercy The person who do not mercy, will not get: 6
Sue e Js i ey S
To give charity Good deeds To be patient Fulfiment of ~ [In® &yl a2 A 1" for us there Is 7
§2 50 Vb Ll promise practical lesson of:
Ksidem 0L gt “ g i By
Polytheist Apostate Disbeliever Hypocrite According to hadith-e-Nabvi(PBUH), the 8
J7 i 3 Je person who do not keep promise Is called:
-‘:_&fkf/fL'ﬂL)Edfc&J&lﬂU: ,lfl."-‘-cw
Stinginess Openness Moderation Extravagance |[To bind one's hand with neck means: 8
o S Jusl i -.a,y:_e.:y:_u;fwiw
Justice Desire Friendship Relationship [ Our testimony on any matter should 10
] S o ) depend on: _egdn;Lélefdm{Llru"dj
Riot in society Pride and Dishonesty in To break of | The reason behind the doom on the 1
WL b arrogance trade promise people of Hazrat Shoaib(A.S) was:
Ainj Sbstel O lbons -Jgu,(é_nd}tﬁ.ut{(i‘f e
Blessing of Allah | Mercy of Allah Sovereignty of | Oneness of Allah | Terminological meaning of Tauheed Is: 12
Almighty Almighty Allah Almighty Almighty A el ey
Lfdud AT Lo fJudi cles S
Surah-Al-Annas | Surah-Al-lkhlas | Surah-Al-Kausar | Surah-Al-Nasar [Oneness of Allah Almighty is explalned 13
LIy LS Bl Sl T e properlyin: e\ y@wdd{@wfdml
Aqeeda Tauheed | Aqeeda Revealed | Aqeeda Akhrat | Aqeeda Rlisalat |Our firm belief on the Oneness of Allah 14
2 I Books =T e Almighty Is called:
el - b sk s 2o S
=3 3 o d Example of connected pronoun is: 16
-‘adt‘f&f" 7
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A

b - 44 (M)w.m)w
[ MAXIMUM MARKS: 60 = A
“flinkg g Inins b»/.zd/d‘rwgéi’d'l -2/

=) e w R ALLe
-

% ,TUDIES (ELECTIVE) PAPER-I |
' 210 Hours  &210m =3y | SUBJECTIVE /L5

Justion number and Its part numbor on answer book, as given In the quostion paper,

SECTION-| Jileo

2024

npt 80y five parts. l 10=2x6 -41/‘4"07’&@-(;/ -2/
Write plural of * i and hjals”, Lt JOS a 5 0
‘,.)——me two madical benefits of purity. Gl end | i)
iy | Write names of three types of verb, -2y /;;Lrp,cj&f’ (i)
Lv) How we can get purity due to unavailability of water? ?,4-15‘5 bJJ‘ (vé_.ﬂf ﬁn;ﬁ’ d;ﬁ (iv)
(v)  |Explain racism in your own words. EC sz e | ()
(vi) | Write two characteristics of a person who adopt modesty. -1 fouindlnigf | i)
(vii) | How charity in the name of Allah Is explained by grain earrings? Tq-f I e udySindin 73060 | (i
(viif) | Write four principles of testimony in the light of teachings of Islam. -é/fd/byék__nw",ﬁ(ﬁafabf:’dud (i)
3. Attempt any five parts. 10=2x5 -4/}’—’4&512153::43/ -3
(i) Write definiton of subjunctive pronoun. i S St s (0]
(1) Write names of three types of conjunctive nouns. -l UL o /,’ )
(i) | Write two examples of separate ralse pronoun. -SSR S i | Gy
(iv) | What is punishment of willful murder in Islam? fs-!';'J/erM (v)
(v) What are the benefits by adopting moderation In expenditures? Sl oW L Siptebl? | (1)
(vi)  [Whatis rule of Islam about news of sinner? 9{-f‘ Vulte n LA5T6 | (i)
(vi) | Write any four rights of parents. -észzkc-Jfﬁc{J‘! (vii)
(viii) | How Interest convert peace of society into riot? -/ Se /i AN L forr | i)
4. Attempt any five parts. 10=2x5 -é{i‘ﬂ"-‘-’—‘z’.&&éaf '-4/{1}’/
(i) Write definition of Active voice and Passive voice. -ZEifs fEIAS S (0}
(1) Write any four prepositions of Arabic. -.é!ﬂ/'.'d"/éd/l,b:—tj{ (i)
() Write definition of Intransitive verb and one Arabic example. -‘.4'{/:)“/4/4/”.4?/’4/1;(5“\)” (iii)
(iv) | Explain the difference between Ushr and Zakat. -LIOWINES T | W)
(v) Write translation of “ J,lia” and “ ;-,ﬁ;ig". ZEifan J-:Lm "G ", " | W
(i) | Write one Ayat/translation on keeping promise. -.4!/"-4’-//-4'«.r {JM';J‘-—“’ (vi)
(vi) | What is meant by day of resurrection *‘ Lsdipy 7 Sesl e &y | (vil)
(vil) | How can we eliminate poverty in present era In the light of Islamic F‘ .__-/-v./l)fwui-r’uftﬁafrwxf L | (viliy
economic system? ?q_J; l_aJ

SECTION-II (12
5 Translate and explain any two of the followlng Quranic Aayaat: J 10=6+5 I c‘: Z}'/‘Z:L?]b’.:tﬁ:J/;.J.-.ﬁJT}J;@» 5

(A) (o] 5:" Xi fdJl, (54' ":"f 531«: o 3.|.A OJ-I-;; 3 s.lj“d d ()
B)  lake e 0 Gl gle D cuaks gp A g 3T MR L ey ()
. l‘l f’l:)‘ﬂ’t” ‘, 5 14‘116 G! t ‘ 5
© 0 3b Juad 4l o5 ¥l gy ol dly © Lags uaﬂl dgddy @)
8. Translate and explain briefly any one of the following Blessed "AHADIS", 5 - C/‘Lu;r.ﬁ/c_‘;f vaciltits -6
. ) Pl é 2 6
®) Wkl Lhsdu () R R R )

7. Write down the answers of any two parts of the following: 6+6 -_Z.:::,LWLIZ!,;J/;JJ_J.;»» o |

et AU o I fmmr ()

(A) How belief in Oneness of Allah Almighty can Improve the life of
Muslims In present era?
(B) How societal riot took place by adopting unlawful ways of earning? -&=. 5 ] "c‘-fr'f,zb'zéﬂﬁc-/b*cd./ wém/wéwu ()

(C) Explain the importance of socletal justice of soclety In the light -4 2 5 I &/J%W’U‘//'JJUIJPU’.'_ L ()
of Quran-e-Majeed and Hadith-e-Nabwi(PBUH).

-Efn62 48 8

8. Write the answer of one part, 5

PP B S AP ()
P Haltan P

(A) Write definition of past verb and give three examples In Arablc.

(B) Write five Arabic examples of Acrist tense.
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Model Paper Physics(Objective)

‘ S$SC (Class 10th) Year 2024

—

S/ B LA ij‘ﬁ;/’bjb'fi.ﬁL/.,.B:'lb’.,-lﬁ.;zu-wiz__, D,c,n,A_-,p;,,-i,lgédlyﬁ HOY)

S
Note:-
provided.

Write answers to the questions on the objective answer sheet provided. Four possible answers are given. Which answer you
conslder correct fill the corresponding circle AB,C or D in front of each question with marker or ink on the answer sheet

Time: 15 Minutes i | Marks: 12
Question A B C D
1.1 | In air, the value of Coulomb’s constant (K)
InS1 units is: 9x10°Nmic? | 9x10°Nmic? | 9x10°N°'mC? | 9x10° NmC?
e U210 i
2. The brain of any computer system is : Monitor Control Unit Memory
e bkt 1S A i ot oY
3. Which form of energy is sound? Mechanical Thermal Chemical Electrical
e PoafSam | KL J7 S £
a. Which of the following characteristics of a wave Amplitude Wavelength Speed Frequency
is independent of the others?
S e S pnebsof Spatdizmr | 3E Hp i Ny
0
s. | The index of refraction depends on: The focal length The image The object The speed of
distance distance light
e bW fdT S | S (EiLE JLiLp PG
6. | And gate can be formed by using two: NOT-gates NOR-gales OR-gates NAND-gates
1 §Frf b ed T g S neuf et S N A L%
7| The number of neutrons in the nuclide 13 Xis:
6 6 7 13 20
s Shres’s X e
8. | The presence of a magnetic field can be Slationary positve | Stationary negaive | Magnetic Compass Small mass
detected by a: charge charge
e Lol rr SV GE creriyde | coarE PN el
9. If 0.5C charge passes through a wire in
108, then what will be the current?
S Sine SLLA0S e prs05Ce S | S0MA SmA 500 A 05mA
efnf
10. | Analyze the following factors and select a factor Amplitude Frequency Period Wavelength
on which loudness of sound depends?
sy P LG Bin g F¥N Sz s G by £y
SNV T
11. | In series combination of capacitors, each capacitor Voltage Charge Capacitance
will have same A&B
:{”/-'/-.i Lﬂ{ﬂtﬁ-ﬂ)'/_/.’éi'f-{ Z-?yu (73 lf';v"{
12 | Inhow many main parts a CRO is subdivided
te Ly SCROLIL U 2 & ! 2 g :

CamScanner
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4

__ Model Pa}imér Physics (Subjective)

SSC (Class 10th) Year 2024
|

E@?‘ 1:45 Hours Marks: 48
- Section-I
Q2. | Write short answers to any five parts of the following: | (2x5=10) i f el Letrbiedf | 270r
v
(i) | Whatis meant by diffraction of waves? Sl o e i IT e (i)
(ii) | Describe laws of refraction. LTl L_):_f 3 (1)
(i) | Whatis Boolean algebra? el A1 (iii)
(iv) | Think of several examples of motion in everyday life that st L d S 2SS lingn | W)
are simple harmonic. - "
(v) | Write down two uses of CRO. - 1, LCRO (v)
(vi) | How does the thickness of lens affect its focal length? te 3L IS SiSnderdA | W)
(vii) | Contrast analogue electronics with digital electronics. NESSI W N 2O, v 29 S (vii)
(viii) | Infer the conditions of total Internal reflection. A /AJQ‘,E"JJ s | i)
Q.3. | Write short answers to any five parts of the following: | (2x5=10) - g'_f Az L r&latj S aAdr
(i) | Whatis meant by zero bell? St e (i)
(i) | Define Farad. ‘_ Y (i)
(iii) | Whatis super computer? b U] (2 (1)
(iv) | Differentiate between Pitch and Quality of sound. WIS fhﬂ,gd&.ﬂ/ (iv)
(v) | Iselectric intensity a vector quantity? What will be its direction? I S er St i S u"" S| W
(vi) | Write any two uses of optical fibre. L7 e 8 L Fi ST (vI)
(vii) | Onwhat factors loudness of sound depends? Sty S A | V)
(viii) | Why is Internet called * source of knowledge and information™? I S bol U . Eb il fk Soz (viii)
Q.4. | Write short answers to any five parts of the following: | (2x5=10) , A Lol dl| 4t
(i) | Define EMF. - A i (i)
(i) | Whatis meant by intensity of magnetic field? te el | ()
(iii) | Describe the structure of an atom. Lo |
(iv) | How many coils are used in a transformer? Also name them. | Y u’-rt Lot LS;KU:/JL'J'/' )
(v) | Write down any two uses of radio -isotopes. e §I LA (v)
(vi) | Construct a labeled relay circuit. LTl J’-’ (vi)
(vii) | What does Nuclear Transmutation mean? A P (vii)
(viii) | Compare a cell with a battery. oy Ao Ll i)
Section-Il
Note: | Attempt any two questions from the following: (9x2=18) | 9 Gzl yoeldfedt N )
5.(a) | Contrast Myopia with Hypermetropia. (1+1+1+1=4) Loive § PSPl | (an)-S
(b) [ A pendulum of length 0.99m is taken to the Moon by et git Aied G099 | (<)
an astronaut. The period of the pendulum is 4.9S. 5) Jl e b e
What is the value of ‘g’ on the surface of the Moon? fUnf=dy 45’ J"‘.’-?—“-gséﬁ“ s
6.(a) | Define flow of information and explain it with L b PSUmE s Sl m | ()6
diagram. (1+2+1=4) ) =
(b) | Two charges repel each other with a force of 0.1N 0N S rnsfinsduse_ty 12625 cm —22 o | (<)
when they are 5 cm apart. Find the force b/w the P A i
same charges when they are 2cm apart, ®) P dudon Ll Sse it
-um‘fiu,kl;LZcmu_‘e_é
7.(a) | Whatis Specific Reslstance? Explain the (HH1:1=4) |y s s, A e 2o, Y.
factors affecting the resistance. AN IS A M e ik | ()T
-éu:)UJJJ'!
(b) | Cobalt-60 is a radioactive element with half-life w26 Jv 5.25 SNU S 60-2 NS Higks | (<)

of 5.25 years. What fraction of the original (5)

sample will be left after 26 years?

?E’KJV/;JLJWB’/I;PL}IIJGO-JE/

CamScanner



https://v3.camscanner.com/user/download

UGN P22 7 g ik

Objective (s>
Time: 15 Minutes d15 1=y
Marks: 10 10 -/

S L ozernedumd sz L)y ﬁ/,qwm-ujiz,-m mA.B,c;pm,w, ik

-(M/)‘jbl&'__,lifufl L}::a/r'lf/:_//_._/daKE_L/J,J(U)/’D/UL“_(I_;T;:)/;_@}LLL

SECTION-A i.»

10.

Questions/ = U1» A B c D
Se Ve st n L inme =i (171 =iyd sy
(TP AY-4 i L (17 7o
_cl-t_flff.-.jfu:‘jgsm Ul oA JG »i
Y 2 S AOD I = /‘J"nf} /’J:f} /’AI‘IJ" ._./"/ﬂ[g
EAT A Cied bie? Sep? 3P ed
-‘gfsm’( R SR u.'J’.J I35 Py sy
-;_(tb’olﬁ;gdmf;u:_n"?by Jlf wfﬁlu’ /..3 CS/
-uj':é;(u;;rdl:é_ﬂé;/ic'f' dl?@’ Ele r;'li ..::—I:%U‘I
-egnil:;ﬁlc_rté&ﬂmr J<_u""‘ J;(il (.(L'JV.J JLJkJU!
D P e S S U5y e iy Aisy
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/
Subjective de
Time: 1:45 Hours us 1,
Marks: 40 40 :ﬁf
-u}d;’U(":’.ﬂ’/:l(uJ:.;)
SECTION-B (1.
(5x2=10) - f e P Lanbia )2
S} (l//u,/JJ(WUIW k
_5£6J,/L/-.4M|J:~:«-£"JJ}"U}’ i
~E L F ST K gy il.
?‘L)l/_brgdl?@/ iv.
-_é/jdr‘lué:él;u:fugfylb)’ v.
il et pendat$ads A Vi
_ujé@C}’Jrc.dku/?"ufOjuJ:,Lt;QJJJ:HIEJr vii.
?_lﬁ,_)u:.frl::f/)l’slr viii.
(5x1=05) _Z:,’i" LI, et itn-3
G | oe | 539 | &
A | =3l | a8 &
SECTION-C (r.»
(3x5=15) !JI”J'UJ)VLK‘?‘J eSS4

:@ug%#uk\;ﬁ”f’"v: »“[J‘:»'GJJ-’L’J’"’ UEL“U‘»!;v:”wys B

kf.ftpl "’zgdlu.ndn,iiasv,

Ak gahs s Cesih b (750580 3 G s e s gsiG i ) i

” :TS n’ -7
(O3 U-’»ﬁ-‘

Q855 (g FTa s 2 e :,sf.:;uycu;g@@‘ﬂb,ugyvl|,"'-vn&,u'é; E
QPR FEAN HeS B H(
U8 gl 1 e 57800 G2 Ul 6 255 nallcntl et ST v
a-ﬂ&ésﬁgiaw&;«,wséwww
RN Rt TRV AT S

L,,\ m\,u\ua,'l" 2

-

(10)

- v w2, "’l i H
toplie A% 25531 G350l 35

J /. pa /’ &)/'&r"r‘g{luf LU-".'J_,}.?JA'J-S

L AL SIS e
L PGB LSS A
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L2220 12Dy
15 7
Lonena Jud s Ly zd802-u LD mABCMZ Ll L rin s
Kol a st §L S Skl S st iie i A e LS A2 S T
(D) (C) (B) (A) QUESTIONS Q-1
mutl o AL oy NSBrCAL M| 1
40| Lu30] w20 AT| IS gugn st tué| 2
A L LK Lok Vo £ 21 Jor| 3
I g ks /S s o 4
der| ooz G| e e fUrtees| 5
Gbea| Yot obf Gble| bl gl S| 6
LIJ.(}
bslPe € bebids blzl| beule iy Gollewt| 7
Jbulz Ubses e Vbt u‘-’:uL)l,«_"ﬁf G| 8
sl SHJu O# Uik 197759 el Uty fley g™ ac’f 9
$Eon| wurest| OOFFE  erer WG e MIA?| 10
Flos ) b M| e 6 JOIET B Ud of| 11
)
ol gzA s | et §8 b it £l | 12
* Ji St ) PR v e { SN rid I E
AU I,J:'l/l V4)Ys bCELZ| B Ubae® = SuB P 14
! S
L] Ui Ul Udst ! Yhg2eLf | 15
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z

Qe
60
Tx2=14
s 2 UL AU tutvsl ()
te SO Feri 2tufe B (V)
L UbuPul UL G ULl (vi)
et Sy L FOEuE g (viny
mZUE Ukuks UbeUbe Sl & (x)
At
05

/05

06

2210 5
Az sueuguirunL 2,22
TEfJ{Jrfu)JsbqumH‘d;c )}
S 10/ Bl g (i)
Sel$snSSIEs (v)
S0 S b I imLoeS (il)
T)jut':/l;(_.!'t)blgc.&g. ;["f (Ix)

Ah;:&LU’?_:MJL.JU?'&CUJ;:UMZLJZ-S

ok (i) 2l uk (v) =L (v) 26 () 27 (i) L0
/ﬁ;)&?&&?@:ﬂ;)ulkﬂul_héi_:g-4

GE A W) i) Gz V) g (i de () KuiG)
Q,gffg,ﬁ,lhfdt;;.ﬁh&f;lg_;(s)igéugsuL;:ULuw:!_L:E-s

LALL (ix)ELUs (VITTE DK (vil) CsBada(vi) =%k (v) =gt (W) oz () 2 (i) 2 L)

1+1+8=10

)‘ﬁ(ﬁutbdAJL Jf_:/c;.‘.(wdlf'v L(fd):d?—ﬂé -6

L ens JU f:ln,’ &y S & s in UFis BB s Lf'ufg.‘uﬁ Sou( )
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v Model Paper Annual 2024

Islamiyat (Compulsory) Sl

Paper: 11 Objectiveu"’ 3> p II:z24
Time: 15 Minutes (01d Couse) 215 1=y

.
.

Marks: 10 MUHAMMAD YASIN GMHS RENALA KHURD OKARA BISESAHIWAL 10 3/

LI A0 Lozenadune ey ,.-/,Qs’q:z-wéz__mmc,a,A Az Ml Ly fmisd
K9 Uh,alﬁuf Ay (,( i/, 4[ ~‘.«ULL./ /'J( Ui Ll-&s A

Note: You have four choices for each objective type question as A,B,C and D. the choice which you think
is correct, fill that circle in front of that question number in your answer book. Use marker or pen to fill
the circles. Cutting or filling up two or more circles will result no mark.

S ection-AJ;l -~

Ql Questions/ =l A B C D

. G| niygf | VEeif | nlif | St
The meaning of@,/‘?iis: Youhide | Youwasted | Yousave Youserve

2. ule ")-«_(Ill):jj(ﬂéjuJ_‘,'YUl;/)’ = Jl;f Vi 4
Inthe light of surah Al-Ahzab relatives are Friends Brothers Rightful Neighbors

to one another.

3. O S = i ¢
The standard of superiority is: Race Wealth Taqwa Knowledge

s A PN =5 | el | b
A Person can execute will of his property: Full Half One third One fourth

5. —cszre NS pa S Ur o) 1! =z
Every one among you is answerable for his__. Wife Wealth | Employment Subject

6. _.;.a’d,ij;u:f/y:w ==3n = Py .—.,5’14
In the holy Hadith, Deen has been comparted to: Tree Building Sea Pasture

7. -zl ——is S o u(l/f Jly=zse
Rozais___ worship. Harmful Easy Comfortable Hard

8. _g.Jm,Jf ¥Us s ,’ul[jm/'m& ¥ 191 FSnl 547 £ ¥¢,
Prosperity and abundance is destined to those Brotherhood | Bravery | Thankfulness Mercy
who demonstrate:

9. bW Pl e 2 £ el
To control oneself in unpleasant condition is: Prosperity Patience | Thankfulness | Sensitivity

10. cecods2F | w00 | 2300 241200 21100
The ‘Diat’ of unintentional murder is: 400 camels | 300 camels | 200 camels 100 camels

MUHAMMAD YASIN GMHS RENALA KHURD OKARA BISE SAHIWAL
0300-6956589
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,\Islamiyat (Compulsory) Sttt
Timgﬁ 1:45 Subjective Jlﬁl 45 O
Hours

Marks: 40

MUHAMMAD YASIN GMHS RENALA KHURD OKARA BISE SAHIWAL 40 :/:‘

Section-B (9.4

2. Write short answers to any six parts:

i. What instructions have been given about adopted
sons in surah Al-Ahzab?

ii. What qualitics of Muslim men and women have
been described in surah Al-Ahzab? Write down
any four.

iii. Write down the translation of an Ayah regarding
Khatam-e-Nabwat.

iv. Translate into Urdu ) .

a3 3615058

v. Explain the role of hypocrites of medina in the
light of Surrah Al-Azab.

vi. How did the believers get the support and success

from Allah almighty in the war of Ahzab?

How the enmity of non-believers can be tuned

into friendship?

Vil

viii. Which good deed of Hazrat Ibraheem @ is

ordered to be followed?

ix. What standard should be opted for friendship and
enmity with the disbelievers? Explain it in the light
of surah Al-Mumtahina.

3. Write short answers to any six parts:

i. How is salah the pillar of Deen? Explain it.

—

ii. What etiquettes must be observed during the
Khutaba-e-Jumuah?

iii. In which conditions Ghusl is lawful/essential?

-

iv. How should the slaves be treated? Explain in the
light of Hajjatul widda.

v. What do you think the only way to keep the family
life pure and chaste? Explain it.
vi. Write down the three ways of gratitude.

vil. What is the literal meaning of jihad? And when it
becomes obligatory?
viii. What is the status of Hijra/migration in Islam?

ix. What is the meaning of 3aJl pai and who is meant
by 1t?
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f 4, Translate into Urdu any two of the following Quranie Ayahs.
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5. Translate and explain the given Holy Hadith,
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6. Write down a detailed note on the duties and rights of husband and wife.
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What is meant by Jihad? And highlight its importance in establishing a peaceful society. b(‘)?{a‘/apg/ ba/
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